REREL /#RETE

J &7

$20. p25. $p32. p40
E RS

(J|G|2)(20|Bj 50 ? ?
b o 5 ! !
R @ K FERRRETESE
| ¢ |AERA | EARRERES | HAZED | ERFERIRE
MA | MA-1 (AC110V.DC24V) I
s MB |MD-1 (DC24V) ”
®{/E§m1:it, ~ MC |MD-3 (DC5.6V) M2 )]
| 2 [EwmEanf | MD MR (AC.DC5~110V) HiEE
e RLAE RIS @
ME MA-2L (AC110V) =
@& PIFE (mm) MF__| MA-2H (AC220V) o)
20 $20 MG |MT-3 (DC5~30V) M (V)]
25 25 MH | MT-3U (DC5~30V) ﬂ;g/gg
32 $32 MJ | MT-2 (DC24V) FWEF#EJE%]
40 40 MK | MT-2U (DC24V) YR
@RRIFE=ER ®RIERRREEE
| B |#BEE HIEED | MR ERIES
2 R FERI RS
G &2 1 B R FERDRR
nﬁ/%*'r E]_'*EDE?J:E
O ifwE:s
©BEER W= | RS
N | EXER Y Y fZi%5E
L | KRIZER I | 23280
A | REMR
c |EBlE
T | TERE
pEESEL
sls s
$20 JB20-PS
$25 JB25-PS
$32 JB32-PS
$40 JB40-PS
EBER X FE R RE Bl & 22 B 5k
Aﬂw«(mm) $20 $25 $32 $40 BERE .
R ZERZ J20-L | Jos-L | Js2-L | Jao-L (mm) MFEZ R A
ZRHEMNR J20-A J25-A J32-A J40-A $20 J20-MJ
B - - J32-C J40-C 25 J25-MJ
THEERE J20-T J25-T J32-T J40-T $32 J32-MJ
$40 J40-MJ

@ FONTAL C24



wBEL/ iE &R J RS
$20. 25, $32. $40

MK

fEEIAZC B U HENZ
B EE EhaH/AaHZER
B P& E MPa (kgf/cm?) 0.1~0.7(1.0~7.1)
BEEHEE C 560
AEREEHE mm/s 50~500
& 1E NEREE
EEERE mm KX

S SR RIZER © FRHEAR -
BEIER N

R

(BEfiZ : mm)

Gk
JIS #55 BRE SR BEEE
_E] $20 15.25.50.75.100.125.150
$25 25.50.75.100.125.150
wEH $32 25.50.75.100.125.150.200.250.300 500
$40 50.75.100.125.150.200.250.300
FILERPRETVEE  ETEEMNSIE
{{g A FEEDRPIEERE
FBRREN - ERTIAKNEIRSIE
FEN :
BE})  Y(MPa)=X(kgf /cm?) X 9.80665 X 10
TE  Y(N)=X(kgf) X 9.80665
[
& 3 2R B ZE 2 L HEN Bz | TEERA
= ot RERNRR O O @) - -
T | angEs O O O O O
s AR Y F4%88 O O O O O
| FzzER O @) O O @)

C25 @ FONTAL



RUFERARARZ U

M 2 H 12 B U FE R RS

7

M F #4322 RK FE B A

®EREL/J 5

- &

o

Rt IR
ype | SEEERE | FEEEREE JETE Jes | BEEEE |2EE S REE fETIE
e e e e
AC110 5~45 e MT-2 DC24 B HsEE o
MA DC24 5~45 © lpLc MT-2U | (DC10~30) e100 © lpic
MD- | DC24 25~65 O |HEEEs MT-3 feE 2%
- - DC5~30 5~200 O |PLC
MD-3 pcs.e | (J'E“Q'I?E%j‘) o |icm MT-3U ICEEE
max.300 (FE1E B &)
MR A 5~110 a0 (JE'Z'I@E%?) b% LR M %ﬁ’@ﬁﬁ%ﬁﬂ%1&ﬁﬁi (BE4Z - mm)
DC max.300 (FR{ & &) | T IE |PLC —
MA-2L AC11 ~ O |#EE=R 5 g 4 R AEFARAZ
- e o150 e ENE € RFERIR | @R ERIRT a5 oy e ps e
MA-2H | AC220 5~150 O |#FE=8 (A—%@E.L) | (FRx@EL) | T S
) MA-2LEAMA-1#[E » REZ RIEAMA-2L 920
ZIRHRIRIRUTSS-2L © 925 50 15 5
MA-2HEEMA-11E[F © TR Z R EEBMA-2H v32
ZIRMHRIFIRULSS-2H © 40
RAERRRARIE (L B
HEIPEERJIRT
@ FONTAL C26

-
0p
@
3.
@
7



®EREL/J R

1BiE
$20. 425
@ OO0 0O ©@
1 -
$32. $40

GRS

5% % # 1H % % % 1H

@ EES ® ER2A

©) S iMd = 1R

® IVE ® URZEE R}

@ LN TEE=

® BZEA 0) TE@EIREt

©® EZEB TEETHE AR

@ it O> 5 o B R:ES)]

TEEER ) EEEEA

® EEME D) IEERRR

TEEmE ) FILEAS

W) LRy ES) ® e

@ IVERH @ PR

MEFFIFR

EAE OFEE-::E=) oA IES) (OF::0Y::E=) @ sEZR R
(mm) BY 5% HE B SR HE B 5% 2 B SR HE
$20 PSD-20 1 GYH-13x7x3.8 2 PDU-10Z 1 S0-015-21 2
$25 PSD-25 1 GYH-17x11x3.8 2 PDU-12Z 1 S0-015-25 2
$32 PSD-32 1 CP-16 2 PDU-14Z 1 S0-015-29 2
$40 PSD-40 1 CP-18 2 PDU-16Z 1 S0-015-20 2

X)) ML ERIHEE SR 530S

c27

@ FONTAL




kR~
HEEE $20/JG2-20B

REREL/J RFI

(Bf7 : mm)

2-Rc(PT) 1%

EAER/N
104+18 2
34 70 +1& 12
21 1315 15_13
14 158 8
M8X1.25 | 5| [ 8 { F
¢§2 - % &
f N
$19.3:]910 I
| 4 & (I
$HEEE 13 $25
M18X1.5 ¥HEEE 24
HIZERZ /L
1
25
3_2# x|L| 1%| l

93.4+ 18 2

N

1134+ #2

Bfz/C
99+ 7 2 7
34 65+ 2
21 13]15 15 8
[14_ [15]8 8
M8 X 1.25 5 r
c3 i
432 R
il BN N !
$19.3, ¢104{ - O ¢*15 fa
: & / k ' )
¥HEEE 13 $25 $5+402 1 N
M18X1.5 12781
TERE/T
6-91
#8882 é?
i AElesa - i Bﬁ

L— v
|

9 |

29.5
@ FONTAL C28

-
0p
@
3.
@
7




®EREL/J R

AR R~F

L8 $25/JG2-25B (B : mm)
EERZ/N

114+ 12
42 72+ 1 72
27 15 |15 15 15
20 15 |8 8 20 .. 30°

M10X1.5 6 | |10
2-Re(PT) )%

T
#3571 a ﬁ 2
¢2I3—81?)12_ 1 . T T ?'L
! \J L 5

HHEBEE 17 $30
M22 X 1.5 HEEE 27

T
&
\

I

MIZRRZ /L

28 -
3.2 T f T (\ } l r— !
'6.8 10]18.2 ‘
40 23.8 93.4+ & 2
60 L 1134+ 12

18 a
i H ﬂzﬂ
55 4-$6.8 45
75
oo "/
BEIlf/C
110+ 7 72 8
a2 6878 72
27 15 | 15 15 1
20 158 8110
M10X1.5 6 ‘
5
; - &
$35] O I
$23.8,912 - A ——— e S<—OH- ¢20
{ 2 L
HEEE 17 $30 $615%
M22 X 1.5 16751
TERE/T

$7.6-81
ik AT &

10.9 9

C29 @ FONTAL



REREL/J RFI

AR R~F

BB ¢32/JG2-32B (&g mm)
REERZ/N
e 148+ & 12
48 100+ & %2
32 16 | 20 0 16
20 10 11 1

M12X1.25 7

oy , ,

! T

¢2778v3¢'14 T A —— B N .
S as S|

HHBTE 19 ‘ $31.6
M27 X2 HBEE 35

% 2-Re(PT) %

7
5@4

S

FIZERZ /L .
: 205 - 1@7% )
ﬁ _ o o)
— 0,
35 0
3 2@ | (N | k J (7))
. J*_ T : T T
6.8 10[18.2 ‘
40 29.8 120.4+ & 72
60 140.4+ f& 12
ZHRMAZ/A

4-¢$6.8

Blfz/C
165+ 787 72
48 117+ 1@ 72
32 16 | 20 20 33 9
M12 X 1.25 20 11 11 12

7 _“ r e $8H8

f
S
s

$316 G

$7.6-81 T
#8002
— n !
-t D —_—— e -5 -
U T
0.9 =
9
435

@ FONTAL C30



®EREL/J R

kR~
EEFZ 940/JG2-40B

(Bfiz : mm)

ZEER/N 164+ 187 12
50 114+ & 12
34 16 | 26 26 16
M14X1.5 22 11 *137 13 S 2-Re(PT) Y4
T ] &
¢48 ! N i @
$33-037 ;
1611 HEA———— —_— A
i {
YHBER 22 /M33X2 YHEEE 41 $46
HESAE N -
25 — @ @
© = e
- /
40
14 18.2 - |
31.8 134.4+ 1 12 J
[ 162.4+ & 12 J
&
] ® f%
S0 N | N D N 1 AV S U D70 | S — —
| ®
4-¢9 4.5 |
BIf/C B
185+ 1& 2
50 135+ & 12
316 26 26 37 112
M14X1. 22 13 13 15
1.5 2 13 3] 10
T o
P48 - [
¢3378.3¢.16 ' [:\
| — | =
HEEE $46 S 1
HIEEE 22 332 -
—0.1
TERE/T
$7.6-81 T &
$8-8382 — !¢% @gE}
- !
0.9 s
) . L
455

C31

@ FONTAL



